COMMERCIAL WATER METER VAULT REHABILITATION - PHASE 15

PROJECT NO. CP0825P015

ITEM			ENGINEER'S ESTIMATE		LOENBRO dba REVOLUTION INDUSTRIAL		TALIS CONSTRUCTION CORPORATION	
NO.	DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1.	Parallel 2-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 1 at Falcon Elementary School, 1645 N. Sterling.	LS LS	LUMP SUM	106,300.00	LUMP SUM	73,707.08	LUMP SUM	103.771.00
2.	4-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 3 at Ramon S Mendoza Elementary School, 5831 E. McLellan Rd.	LS LS	LUMP SUM	118,600.00	LUMP SUM	157,254.10	LUMP SUM	156,013.45
3.	4-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4A at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	132,340.00	LUMP SUM	119,153.89	LUMP SUM	123,125.54
4.	4-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4B at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	173,660.00	LUMP SUM	130,127.52	LUMP SUM	193,112.63
5.	Parallel 2-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4C at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	142,800.00	LUMP SUM	98.555.46	LUMP SUM	94,712.31
6.	Parallel 2-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4D at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	174.890.00	LUMP SUM	89,286.72	LUMP SUM	96.712.31
7.	Parallel 2-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4E at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	160.400.00	LUMP SUM	74.385.54	LUMP SUM	86,625.54
8.	Parallel 2-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 4F at Red Mountain High School, 7301 E. Brown Rd.	LS LS	LUMP SUM	132,620.00	LUMP SUM	72,242.43	LUMP SUM	92,830.64

COMMERCIAL WATER METER VAULT REHABILITATION - PHASE 15

PROJECT NO. CP0825P015

ITEM	ТЕМ		ENGINEER'S ESTIMATE		LOENBRO dba REVOLUTION INDUSTRIAL		TALIS CONSTRUCTION CORPORATION	
NO.	DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
9.	6-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 8 at Desert Ridge High School, 10045 E. Madero Ave.	LS LS	LUMP SUM	126,465.00	LUMP SUM	115,284.39	LUMP SUM	129,632.03
10.	4-inch water meter assembly rehabilitation including all associated work as shown on the Approved Plans and Specifications for Site 12 at Hale Elementary School, 1425 N. 23rd St.	LS LS	LUMP SUM	112,430.00	LUMP SUM	99,085.59	LUMP SUM	147,541.00
	CONTINGENT BID ITEMS							
	Removal and disposal of 4-inch asbestos cement pipe not identified on Approved Plans, (Contingent Bid Item).	50 LF	60.00	3,000.00	348.63	17,431.50	137.88	6,894.00
	Removal and disposal of 6-inch asbestos cement pipe not identified on Approved Plans, (Contingent Bid Item).	50 LF	80.00	4,000.00	364.99	18,249.50	137.88	6,894.00
13.	Removal and disposal of 8-inch asbestos cement pipe not identified on Approved Plans, (Contingent Bid Item).	50 LF	120.00	6,000.00	403.25	20,162.50	137.88	6,894.00
14.	Removal and disposal of 12-inch asbestos cement pipe not identified on Approved Plans, (Contingent Bid Item).	50 LF	140.00	7,000.00	433.15	21,657.50	141.59	7,079.50
15.	Furnish and install 4-inch class 350 Ductile Iron Pipe water line not identified on Approved Plans, (Contingent Bid Item).	50 LF	140.00	7,000.00	168.83	8,441.50	138.42	6,921.00
16.	Furnish and install 6-inch class 350 Ductile Iron Pipe water line not identified on Approved Plans, (Contingent Bid Item).	50 LF	180.00	9,000.00	147.77	7,388.50	124.11	6,205.50
17.	Furnish and install 8-inch class 350 Ductile Iron Pipe water line not identified on Approved Plans, (Contingent Bid Item).	50 LF	220.00	11,000.00	164.18	8.209.00	138.00	6,900.00
18.	Furnish and install 12-inch class 350 Ductile Iron Pipe water line not identified on Approved Plans, (Contingent Bid Item).	50 LF	260.00	13,000.00	237.15	11.857.50	138.50	6,925.00
19.	Furnish and install 4-inch water valve, box and cover not identified in the Approved Plans per MAG Std. Dtls. 391-1, Type C; and 392 (Contingent Bid Item).	2 EA	2.700.00	5,400.00	4,764.70	9.529.40	2,198.63	4,397.26
20.	Furnish and install 6-inch water valve, box and cover not identified in the Approved Plans per MAG Std. Dtls. 391-1, Type C; and 392 (Contingent Bid Item).	2 EA	3.300.00	6,600.00	5,539.70	11.079.40	2,713.06	5,426.12

COMMERCIAL WATER METER VAULT REHABILITATION - PHASE 15

PROJECT NO. CP0825P015

ITEM				ENGINEER'S ESTIMATE		LOENBRO dba REVOLUTION INDUSTRIAL		TALIS CONSTRUCTION CORPORATION	
NO.	DESCRIPTION	QUANT	TTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
21.	Furnish and install 8-inch water valve, box and cover not identified in the Approved Plans per MAG Std. Dtls. 391-1, Type C; and 392 (Contingent Bid Item).	2	EA	4,000.00	8,000.00	8,029.00	16,058.00	3,420.41	6,840.82
22.	Furnish and install Type 'K' water line not identified on Approved Plans (Sizes 1/2-inch through 3-inch), (Contingent Bid Item).	100	LF	175.00	17,500.00	59.64	5,964.00	126.80	12,680.00
23.	Sawcut, remove, dispose and replace asphaltic concrete pavement not identified on the Approved Plans per Mesa Std. Dtl. 19.04.1, Type 'B' and 19.04.2 (Contingent Bid								
	Item).	25	SY	235.00	5,875.00	155.00	3,875.00	276.51	6,912.75
24.	Sawcut, remove, dispose and replace concrete sidewalk not identified on the Approved Plans per MAG Std. Dtl. 230 (Contingent Bid Item).	200	SF	80.00	16,000.00	34.10	6,820.00	45.01	9,002.00
25.	Sawcut, remove, dispose and replace concrete driveway not identified on the Approved Plans to match existing layout and depth. (Contingent Bid Item).	500	SF	140.00	70,000.00	46.50	23,250.00	51.44	25,720.00
26.	Sawcut, remove, dispose and replace 6-inch vertical curb not identified on the Approved Plans per MAG Std. Dtl. 220- 1, Type 'A' (Contingent Bid Item).	20	LF	120.00	2,400.00	77.50	1,550.00	77.17	1,543.40
27.	Sawcut, remove, dispose and replace 6-inch single curb not identified on the Approved Plans per MAG Std. Dtl. 222, Type 'B' (Contingent Bid Item).	20	LF	100.00	2,000.00	77.50	1,550.00	77.17	1,543.40
28.	Furnish and install guard post not identified on the Approved Plans per Mesa Std. Dtl. M-32 and MAG Std. Dtl. 140 (Contingent Bid Item).	5	EA	950.00	4.750.00	750.00	3.750.00	1,286.09	6,430.45
29.	Furnish and install 6' chain-link fencing complete	5	LA	950.00	4,750.00	750.00	3,750.00	1,200.09	0,430.45
20.	(Contingent Bid Item).	50	LF	35.00	1,750.00	65.25	3,262.50	77.17	3,858.50
30.	Off-duty Police Officer (Contingent Bid Item).	40	HR٤	102.00	4,080.00	125.00	5,000.00	186.48	7,459.20
	GENERAL ITEMS								
31.	Furnish survey and construction staking.	LS	LS	20.000.00	20,000.00	LUMP SUM	32,500.00	LUMP SUM	42,440.84
32.	Allowance for additional landscape improvements not identified on Approved Plans.		LS	10,000.00	10,000.00	LUMP SUM	10,000.00	LUMP SUM	10,000.00
33.	Allowance for Unforeseen Conditions.		LS	80,000.00	80,000.00	LUMP SUM	80,000.00	LUMP SUM	80,000.00
34.	Allowance for permit fees.		LS	2,500.00	2,500.00	LUMP SUM	2,500.00	LUMP SUM	2,500.00

COMMERCIAL WATER METER VAULT REHABILITATION - PHASE 15

PROJECT NO. CP0825P015

ITEM		ENGINEER'S ESTIMATE		LOENBRO dba REVOLUTION INDUSTRIAL		TALIS CONSTRUCTION CORPORATION	
NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
TOTAL BASE BID (Items 1 through 34)			1,697,360.00		1,359,168.52		1,505,544.19